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PITTSBURG AT DENVER PITTSBURG STEELERS ON OFFENSE
Score:
Winning Margin
Date: Jan. 22, 2006
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Pittsburg Steelers ran the ball 36 times and QB Ben Roethlisberger through 31 passes for a 1.16 Run/Pass Balance. This
ratio is a typical winning number.

Father and sons together watching a big game like the Super Bowl can see early in the contest which team first broke their
game plan.

So print a copy of the format for the big game. Then as the game progresses put a P for each pass and an R for each rush.
Each coach has a hot button when he falls behind by one or two scores. So be the first kid on the block to see when the
coach breaks his game plan and goes to the air to play catch up.



